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2y 0.82% (+3.0bp)
10y 1.69% (+6.4bp)
30y 241% (+7.0bp)
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AT © 0.97% (+4.0bp)
=l ES 8.11% (+0.6bp)
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DOW30 18168.45 (-0.47%)
NASDAQ 5289.66 (-0.21%)
S&P500 215049 (-0.50%)

NIKKEI225  16735.65 (+0.83%)
SHANGHAI 3004.70 (g%

FTSE100 7074.34 (+1.30%)

DAX30 10619.61 (+1.03%)

CAC40 4503.09 (+1.11%)
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WTI 48.69 (-0.25%)
COMEXE@  1269.70 (-3.3%)
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[Am 2054.86 (+0.55%)
AL 685.88 (+0.69%)
{l/ge! 1107.80 (+6.50)

KTB 110.87 (-0.10)
LKTB 132.75 (-0.46)
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ly 1.3150% (+1.00bp)

3y 1.2760% (+2.90bp)

Sy 1.2840% (+3.00bp)

10y  1.4550% (+5.70bp)

20y 1.5010% (+6.80bp)
30y 1.5050% (+6.40bp)
CD 1.3400% ( 0.00bp)
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7. BC AQ AmpC

1Y -3.35bp (+0.95bp)
2y -5.75bp ( 0.00bp)
3y -2.60bp (-0.40bp)
5Y -3.15bp (-0.25bp)
10Y  -15.25bp (-2.20bp)

8. IRS/CRS &%
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1Y 1.2875% (+1.75bp

2y 1.2575% (+2.50bp

3y 1.2500% (+2.50bp

5Y 1.2525% (+2.75bp

7Y 1.2675% (+3.25bp
(

)
)
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)
10Y 1.3025% (+3.50bp)

1*2Y -3.00 (+0.75bp)
2*3Y -0.75  (-0.00bp)
2*5Y -0.50  (+0.25bp)
3*5Y 0.25 (+0.25bp)
5*7Y 1.50 (+0.50bp)

5*10Y  5.00 (+0.75bp)

*CRS =2

1Y 1.1600% (-0.50bp)
2Y 1.0100% (-0.50bp)
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3Y 0.9600% (-1.00bp)
5Y 0.8800% (-1.00bp)
7Y 0.8200% (-1.00bp)
10Y 0.7900% (-1.00bp)
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9% Q|&HE Q1 (USD) (0| F:375.46B)
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